Example: Unrestricted Grammarp

Consider the following definition of an unrestricted grammar.
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Confirm that this grammar is unrestricted using Test > Test for Grammar Type.
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Consider strings in the language specified by this grammar.

e What is the alphabet of the language of this grammar?
e What are the set of non-terminals (variables) used in specifying this grammar?
e What strings are in the language?
e |s the empty string an element of this language?
Predict whether the string "abcd" is in the language.
e What features of the grammar are you using in making your prediction?
Try using Input > Brute Force Parse to determine if the string "abcd" is in the language.

e What issues do you run into using this approach?
Try using Input > User Control Parse to explore potential derivations of "abcd".



e What features of the grammar are you using in narrowing down to a derivation of that
string?
e |s "abcd" actually in the language?



Sample Solution (see: UG. jff)

Sample Result Using Input > User Control Parse
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Derived current Strings using C—d production
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Input a string to begin.
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Derived current Strings using S=ABCD production
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Derived current Strings using B—+b production
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Derived current Strings using Ab—xB production
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Derived current Strings using xBC—aBC production
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Derived current Strings using BCD—y production
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Derived current Strings using y—zyC production
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Derived current Strings using zy—BC production
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Derived current Strings using BC—Bc production
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Derived current Strings using B—+b production
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Derived current Strings using C—d production



